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(1) B f(x)=(x—1)° &T 5%, LATOMICER L, BEIIEBMOTIZEATEIZ &,
(1) #®WEREANVT, y=f)DT T T7EhiT,

F)=3x-1)2E0f'(x)=0LTBLlx=1 Ya
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(2) y=fR)DPIT77 LORE, DICBTHEROFERy = gx)& KD L

f(x) =3(x = 1)2 L 0 AQ, DIZBTBEROBEZIZ(2) =3
L7=ps» THEROFERIT

y—1=3(x-2)
Jhbh y=3x-5

(3) y=fX)Ey=gX)DI I 7 DEATRVWIFERDOXEZEZRD, y=f(x) Ly =g(X)D I 7 7 CHEANLLESD
miEERD L,

HEROXEEIL (x-1)°2=3x-5 LD x3-3x2+4=(x-2(x+1)=0,2RD5DT x=-1,2
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-1<x<2 Tf(x) 2gx)THHDOT, kbrmEiHix

P2 =1)° = (3x = S)}dx = [*( x® Bx? + 4)dx

=[xt - +4x]: =4-8+8-(+1-4)=2
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(1) y=2cos8 BLY y=+v3 DT 7DWK4 - <0 < DOFFETHIT,
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(2) #EHEX
{x2+xy+y2=3 w @
x+y=k - @
EBET xy OEBE B 6 bERTHE LI, FROTIK k ORFEEED &,

(f8) QLY y=k—x ZOIXAT B,
2 +xtk—x)+(k—x)?=3
x2—kx+k?-3=0
HRIRE D B L, xBEETHHNE D20
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(8) HERK log, x +log,(x — 3) = 2% 17,

BHHIZIETHE0H6 x>0 1> x—3>0

Thabb £>3
FHEXELEHT B L log,x(x—3) =2
% 2T x(x —3) = 22

REERT5H L x2=3x—4=(x+1)x-4)=0
2T x33 XY x£=4

(4) BICRTHEICAEET 5 AR ABCD I22WTC, TRENDIDOE S AB=7, BC=5, CD=2, DA=5 D & X%,
ZABC OfEZERD L, 72720, LEZGC CHIZHNET 2UAFORAOFI 180° 1225 Z L #FAw X,
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AABC IZ2WT, REEE AC2=AB4BC2>-2(ABXBC)cos ZABC L ¥,
ACE=T2452-2 X 7X 5 X cos Z ABC

=49+25-70cos £ ABC

=74-70cos ZABC - (1)
AADC I22T, £3%EE AC 2= CDHDA>-2(CD X DA)cos ZADC, /
£, FICHHEET B IATEOXH DTN 180°L 725 2 L b, ca s el
ZADC=180°-ZABC & 725,
£ oT, AC2=24+52-2x2x5xcos(180°- Z ABC)
Z 2T, cos(180°— ZABC)=—cosZABC &LV,
AC2=4+25-20(—cos Z ABC)

=29+20cos ZABC - (2)

(1) & @) &9,
cos ZABC =%
ZABCS180°TH B M5,
£ ABC=60°





